The definition of the perpendicular bisector of a side of a triangle is a line segment

that is both perpendicular to a side of a triangle and passes through its midpoint.
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An example of the perpendicular bi sector of a

side of a trianglp.
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Determine the equation of the perpendicular bisector

of side BC.
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2. Find the equation of the perpendicular bisector of side AB.




3. Find the equation of the perpendicular bisector of side BC.
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4. Find the equation of the perpendicular bisector of side AC.
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5. Find the equation of the perpendicular bisector of side AC.
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Find  Yhe é&%wuﬂmw

1. Find the equation of the altitude drawn from vertex B.
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What is the €quation of the altitude drawp from vertex M? Clearly show all your work.
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@ [riangle PQR 1s formed by joining the following points:
P(-1,6), Q(-3,0), and R(5, -4)
N

awn from vertex g Clearly show all your work.

What is the equation of the altitude dr




Owing points:

X(-6,4), Y(1,2), and Z(-2, -

(W]

)

i What is the equation of the altitude drawn from vertex X? Clearly show all your work.
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@3 Triangle ABC 13 formed by joining

A(4,3), B(-6,1), and C(-2, -3)

What is the equati

the following points:
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D(-6, 5), E(4, 2), and F(-1,

What is the equation of the al
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Tind  Are  Hlea of 71 Conge>

(_Y) rnangle ABC is formed by joining the following points:
A(6,5), B(-4,-1),and C(-2,-6)

" Calculate the area of triangle ABC. Round off your answer to the nearest umit.
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A1, 5,

Calculate the area of triangle ABC. R
Clearly show all your work. '
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B(1,-1),and C(-1,-5)
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A(-4,4), B(1,5), and C(2, -4)

Calculate the area of triang]

e ABC. Round off your answer to the nearest unit,
Clearly show all vour work. ‘
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N
r‘f’/uf ITriangle ABC s formed by joining the following points:
N

AQ2,5), B4,-4) . and C(-4, -2)
culate the area of triangle ABC. Round off your answer 10 the nearest unit.

Cal
Cl,ear_ly show all your work. : \ &= AL
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f 5 Iriangle ABC is formed by joining the fol

A(-1,5), B(4,3),and C(-4,-3)

owing points:

Calculate the area of triangle ARC. Rotnd off your answer to the nearest unit.

L}eariy show all your work.
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